


SWAN NECKS 

Item Part Numbe

10.120.010

M
IG

 / 
M

A
G

10.120.020

10.120.030

10.120.040

10.120.050

10.120.070

10.120.060

10 120 100

10.120.090

10.120.100

(AIR COOLED)

er Description  
 

IK-15 Swan Neck
0

IK-24 Swan Neck
0

IK-25 Swan Neck

IK-26 Swan Neck

0

0
IK 26 Swan Neck

IK-36 Swan Neck
0

IK-38 Swan Neck

IK-45 Swan Neck
0

0

IK 45 Swan Neck

IK-24 Automation Swan Neck

0

0

IK-24 Automation Swan Neck 45o
0



SWAN NECKS (

Item Part Nu

10.12

10.120

10.120

10.120

10.120

10.120

10.120

10.120

WATER COOLED)

umber Description
IK-24 Swan Neck

M
IG

 / 
M

A
G

IK 24 Swan Neck

IK-401 Swan Neck
0.310

IK-501 Swan Neck

IK 600S Swan Neck
0.440

0.320

IK-600S Swan Neck

IK-601 Swan Neck
0.330

IK-602 Swan Neck
0.340

IK-24 Automation Swan Neck
 

 

IK-24 Automation Swan Neck 45o

0.350

0.360

0.300



NOZZLES AND NOZ

M
IG

 / 
M

A
G

Item Part Number Des

IK-15 Tapered Nozzle

IK-15 Conical Nozzle

10.130.005

10.130.010

IK-15 Cylindrical Nozzle

IK-24 Tapered Nozzle

IK-24 Conical Nozzle

IK-24 Cylindrical Nozzle

10.130.015

10.130.020

10.130.025

10.130.030

IK-25 Tapered Nozzle

IK-25 Conical Nozzle

IK-25 Cylindrical Nozzle

/ / d
10.130.050

10.130.035

10.130.040

10.130.045

IK-26/401/501 Tapered Noz

IK-26/401/501 Conical Nozz

IK-26/401/501 Cylindrical N

IK-36 Tapered Nozzle
10.130.065

3

10.130.055

10.130.060

IK-36 Conical Nozzle

IK-36 Cylindrical Nozzle

IK-38/600S/601 Conical Noz

IK-45 Conical Nozzle

10.130.080

10.130.070

10.130.075

10.130.095

IK-602/MAXI 350 Conical No
10.130.110

ZZLE INSULATORS

s snoisnemiD noitpirc

Ø13.0-Ø18.0-L54.0mm

Ø11.0-Ø18.0-L54.0mm

Ø16.0-Ø18.0-L54.0mm

Ø10.5-Ø20.0-L63.5mm

Ø13.5-Ø20.0-L63.5mm

Ø17.0-Ø20.0-L63.5mm

l
Ø12.0-Ø24.0-L75.5mm

Ø12.0-Ø22.0-L55.5mm

Ø14.0-Ø22.0-L55.5mm

Ø18.0-Ø22.0-L55.5mm

zzle

zle

Nozzle

Ø12.0-Ø24.0-L84.0mm

Ø Ø2 8

Ø Ø

Ø16.0-Ø24.0-L75.5mm

Ø20.1-Ø24.0-L75.5mm

zzle
Ø15.0-Ø24.0-L75.5mm

Ø16.0-Ø24.0-L84.0mm

Ø20.1-Ø24.0-L84.0mm

Ø20.0-Ø28.0-L90.0mm

ozzle
Ø16.5-Ø28.0-L82.0mm



DIFFU

Item Part Number
10.140.124  
10.140.024

M
IG

 / 
M

A
G

10.140.126
10.140.026

10.140.136
10.140.036
10.140.236

10.140.138  
10.140.038  
10.140.238

10 140 04510.140.045

10.140.400

10.140.500  0 0 500

USERS

Description
IK-24 Diffuser White

 IK-24 Diffuser Brown

IK-26 Diffuser White
 IK-26 Diffuser Brown

IK-36 Diffuser White
 IK-36 Diffuser Brown

IK-36 Diffuser Ceramic

  IK-38/501/601 Diffuser White

 IK-38
   IK-38/501/601 Diffuser Brown

/501/601 Diffuser Ceramic/ /

IK 45 Diffuser CeramicIK-45 Diffuser Ceramic

AW4000 Diffuser White

AW5000 Diffuser White5000 use te



Item Part Number Dimensions





TIP HO

Item Part Number De

IK-15 Tip Holde
10.160.010

p
t

IK-15 Tip Holde

IK-15 Nozzle Sp

t
IK-24 Tip Holde

10.160.015

10.190.010

10.160.020

IK-25 Tip Holde

IK-26 Tip Holde

IK-36 Tip Holde

IK-36 Tip Holde

10.160.050

10.160.055

10.160.030

10.160.040

IK 36 Tip Holde

IK-38 Tip Holde
t

IK-38 Tip Holde

IK-38 Tip Holde
t

10.160.060

10.160.070

10.160.065

10.160.075
IK-38 Tip Holde

IK-45 Tip Holde

IK-501/601 Tip 

IK 501/601 Tip 

10.160.075

10.160.080

10.160.090

10.160.100
IK-501/601 Tip 

IK-501/601 Tip 

MAXI 250 Tip Ho

MAXI 250 Tip Ho

10.160.110

10.160.115

10.160.105

MAXI 350 Tip Ho

MAXI 450 Tip Ho

10.160.120

10.160.130

LDERS

e snoisnemiDnoitpircs

r
M6 - M8x1(L) - L42.0mm

M
IG

 / 
M

A
G

r (Private)
t
pring

r

M6 - M10x1 - L42.0mm

M6 - M6 - L26.5mm

r

r

r M6

r M8

M6 - M8 - L29.0mm

M8 - M8 - L29.0mm

M6 - M8 - L35.0mm

M6 - M8 - L22.0mm

r M8

r M6 Copper

r M6 Brass

r M8 Copper

M8 - M10x1 - L34.8mm

M6 - M10x1 - L34.8mm

M6 - M10x1 - L34.8mm

M8 - M10x1 - L34.8mm

r M8 Brass

r

 Holder M6 Brass

 Holder M8 Copper

M8  M10x1  L34.8mm

M10 - M10x1 - L42.0mm

M6 - M10x1 - L25.0mm

M8 - M10x1 - L25.0mm
 Holder M8 Copper

 Holder M8 Brass

older

older (Long Type)

M8 - M10x1 - L25.0mm

W1/4x28 - W3/8x24 - L40.0mm

W1/4x28 - W3/8x24 - L52.0mm

older

older

W1/4x28 - M14x1 (L) - L47.0mm

M8 - M14x1 - L58.0mm



-
1

2

-
1

22

-
1

2

-
1

2

-
1

22

-
1

2

-
11

2

Description Dimensions

M
IG

 / 
M

A
G0.6-0.8mm

0.8-1.0mm

1.0-1.2mm

1.0-1.2mm

1.0-1.2mm

(IK-501)

1.0-1.6mm

 (IK-601)

1 2-2 8mm

( )

Black Steel Liner 5,5mt (Özlü Tel)

1.2 2.8mm



TEFLON LINER

Item Part Number
1 10.180.100 

M
IG

 / 
M

A
G 2 10.180.110

 
3 10.180.120
 

1 10.180.200 

 
2 10.180.110 

3 10.180.120
 

1 10.180.300

 
2 10.180.310
 
3 10.180.320ş

Item Part Num

10.190.0

10.190.0

10.190.0

10.190.0

10.190.0

10.190.0

10.190.0

10.190.1

10.190.0

10.190.1

10.190.0

RS –SPRINGS

Description Dimensions
Teflon Liner 
(Red)(Red)
Teflon Liner Nipple
(for Red)
Joining Nipple
(for Red Teflon)

Teflon Liner 
(Black)
Teflon Liner Nipple 

Ø2.0x4.0mm

Ø2.0x4.0mm
(for Red)
Joining Nipple 
(for Red Teflon)

Teflon Liner 
(Yellow)
Teflon Liner Nipple 
(for Yellow)
Joining Nipple 

Ø2.7x4.7mm

g pp
(for Yellow Teflon)

mber Description

IK-15 Nozzle Spring

IK-25 Nozzle Spring

010

020

5x8mm Protecting Spring for Red/Blue Hoses

MAXI Cable Spring (Handle Side)

IK 501 C bl  S i  (H dl  Sid )

030

040

050
IK-501 Cable Spring (Handle Side)

IK-501 Cable Spring (Housing Side)

IK-15/24/25 Cable Spring (Handle Side)
070

060

IK-26/36/38 Cable Spring (Handle Side)

IK-15/24/25 Cable Spring (Housing Side)

IK-26/36/38 Cable Spring (Housing Side)

IK-45 Cable Spring (Housing Side)
110

080

100

090



TEFLON LINER

Item Part Number
1 10.180.100 

M
IG

 / 
M

A
G 2 10.180.110

 
3 10.180.120
 

1 10.180.200 

 
2 10.180.110 

3 10.180.120
 

1 10.180.300

 
2 10.180.310
 
3 10.180.320ş

Item Part Num

10.190.0

10.190.0

10.190.0

10.190.0

10.190.0

10.190.0

10.190.0

10.190.1

10.190.0

10.190.1

10.190.0

RS –SPRINGS

Description Dimensions
Teflon Liner 
(Red)(Red)
Teflon Liner Nipple
(for Red)
Joining Nipple
(for Red Teflon)

Teflon Liner 
(Black)
Teflon Liner Nipple 

Ø2.0x4.0mm

Ø2.0x4.0mm
(for Red)
Joining Nipple 
(for Red Teflon)

Teflon Liner 
(Yellow)
Teflon Liner Nipple 
(for Yellow)
Joining Nipple 

Ø2.7x4.7mm

g pp
(for Yellow Teflon)

mber Description

IK-15 Nozzle Spring

IK-25 Nozzle Spring

010

020

5x8mm Protecting Spring for Red/Blue Hoses

MAXI Cable Spring (Handle Side)

IK 501 C bl  S i  (H dl  Sid )

030

040

050
IK-501 Cable Spring (Handle Side)

IK-501 Cable Spring (Housing Side)

IK-15/24/25 Cable Spring (Handle Side)
070

060

IK-26/36/38 Cable Spring (Handle Side)

IK-15/24/25 Cable Spring (Housing Side)

IK-26/36/38 Cable Spring (Housing Side)

IK-45 Cable Spring (Housing Side)
110

080

100

090



TORCH HEADS

Item Part Number Descriptio
20.220.010 WP-9

20.220.050 WP-9V

20.220.090 WP-17

20.220.130 WP-17V

20.220.330 WP-26

20.220.370 WP-26V

20.220.410 WP-26P

 (AIR COOLED)

n Item Part Number Description
20.220.030 WP-9F

Flexible

TI
G

20.220.070 WP-9VF
Flexible

20.220.110 WP-17F
Flexible

20.220.150 WP-17VF
Flexible

20.220.350 WP-26F
Flexible

20.220.390 WP-26VF
Flexible



CERAMIC 

Item Part Number

20 230 010 10N5020.230.010

20.230.020

20.230.030

20.230.040

20.230.050

10N50

10N49

10N49

10N48

10N48

20.230.060

20.230.070

20.230.080

20.230.090

10N47

10N47

10N46

10N45

20.230.110

20.230.120

20.230.100

20.230.130

10N44

13N08

13N08

13N08

20.230.140

20.230.150

20.230.160

20.230.170

13N09

13N10

13N10

13N11

20.230.180

20.230.190

20.230.200

20.230.210

13N12

13N12

13N13

13N13

NOZZLES

TI
G

Description
Ø1 Ø2 L

47 0mm0 Ø6 5

Dimensions

Ø17 0
Ceramic Nozzle No:4

Ceramic Nozzle No:5

Ceramic Nozzle No:5 Long

Ceramic Nozzle No:6

Ceramic Nozzle No:6 Long

47.0mm

47.0mm

76.0mm

47.0mm

76.0mm

0

9

L

8

L

Ø6.5

Ø8.0

Ø8.0

Ø9.5

Ø9.5

Ø17.0

Ø17.0

Ø17.0

Ø17.0

Ø17.0

Ceramic Nozzle No:6 Long

Ceramic Nozzle No:7

Ceramic Nozzle No:7 Long

Ceramic Nozzle No:8

Ceramic Nozzle No:10

47.0mm

76.0mm

47.0mm

47.0mm

7

L

6

5

Ø11.0 Ø17.0

Ø11.0

Ø12.5

Ø16.0

Ø17.0

Ø17.0

Ø21.0
Ceramic Nozzle No:10

Ceramic Nozzle No:12

Ceramic Nozzle No:3 Long

Ceramic Nozzle No:4

Ceramic Nozzle No:4 Long
Ø6.4

30.0mm

48.0mm

48.0mm

47.0mm4

L

8

L

Ø19.5

Ø4.0

Ø6.4

Ø25.0

Ø14.0

Ø14.0

Ø14.0
g

Ceramic Nozzle No:5

Ceramic Nozzle No:6

Ceramic Nozzle No:6 Long

Ceramic Nozzle No:7

Ø8.0

Ø9.7

Ø9.7

Ø10.8

30.0mm

30.0mm

48.0mm

30.0mm

9

0

L

1

Ø14.0

Ø14.0

Ø14.0

Ø14.0

Ceramic Nozzle No:8

Ceramic Nozzle No:8 Long

Ceramic Nozzle No:10

Ceramic Nozzle No:10 Long

Ø14.0 30.0mm

2

L

3

L Ø14.0 48.0mm

Ø12.7

Ø12.7

Ø17.5

Ø17.5

Ø14.0 30.0mm

Ø14.0 48.0mm

TORCH HEADS

Item Part Number Descriptio
20.220.010 WP-9

20.220.050 WP-9V

20.220.090 WP-17

20.220.130 WP-17V

20.220.330 WP-26

20.220.370 WP-26V

20.220.410 WP-26P

 (AIR COOLED)

n Item Part Number Description
20.220.030 WP-9F

Flexible

TI
G

20.220.070 WP-9VF
Flexible

20.220.110 WP-17F
Flexible

20.220.150 WP-17VF
Flexible

20.220.350 WP-26F
Flexible

20.220.390 WP-26VF
Flexible



CERAMIC 

Item Part Number

20 230 220 53N58

TI
G

20.230.220

20.230.230

20.230.240

20.230.250

20.230.260

54N18

54N17

53N58

53N59

53N60

20.230.300 53N87

20.230.270

20.230.280

20.230.290

54N16

54N15

54N14

20.230.340

20.230.310

20.230.330

20.230.320

53N88

57N74

57N75

889688/0314202

130-00

130-11

20.230.340

20.230.350

20.350.360

889688/0314202

889689/0314202

889690/0314203

20.230.370

20.230.380

20.230.420

130 11

131-00

131-11

132-00

20.230.380

20.230.390

20.230.400

20.230.410

132-11

20.230.430

20.230.440

20.230.450

20.230.460

133-00

133-11

134-00

134-11

NOZZLES

Description
Ø1 Ø2 L

Dimensions

26 0mmØ19 0Ø6 8
Ceramic Nozzle No:4

Ceramic Nozzle No:5

Ceramic Nozzle No:6

Ceramic Nozzle No:4

26.0mm

26.0mm

26.0mm

Ø8.0

Ø9.5 Ø19.0

Ø19.0

42.0mm

42.0mm

Ø6.8

Ø6.5

Ø8.0

Ø19.0

Ø25.0

Ø25.0
Ceramic Nozzle No:5

Ceramic Nozzle No:6

Ceramic Nozzle No:7

Ceramic Nozzle No:8

48.0mm

42.0mm

42.0mm

42.0mm

Ø9.5

Ø11.0

Ø12.5

Ø12.0

Ø25.0

Ø25.0

Ø25.0

Ø30.0
Large Ceramic Nozzle

Large Ceramic Nozzle

Large Ceramic Nozzle

Large Ceramic Nozzle

38.0mm

48.0mm

48.0mm

48.0mm

2

Ø

Ø16.0

Ø12.7

Ø9.5

Ø9.8

Ø

Ø30.0

Ø30.0

Ø30.0

Ø28.0
Ceramic Nozzle

Ceramic Nozzle

Ceramic Nozzle

Ceramic Nozzle

38.0mm

38.0mm

38.0mm

2

2

3

Ø9.8

Ø12.7

Ø15.9

Ø28.0

Ø28.0

Ø28.0

Ø6.5 Ø18.0 44.0mm

Ø6.5 Ø18.0 33.0mm
Ceramic Nozzle

Ceramic Nozzle

Ceramic Nozzle

Ceramic Nozzle

Ceramic Nozzle

Ø8.0

Ø6.5 Ø18.0 33.0mm

Ø8.0 Ø18.0 44.0mm

Ø18.0 33.0mm

Ø9.5 Ø18.0 44.0mm

Ø9.5 Ø18.0 33.0mm
Ceramic Nozzle

Ceramic Nozzle

Ceramic Nozzle

Ceramic Nozzle

Ceramic Nozzle

Ø11.0

Ø12.5 Ø18.0 33.0mm

Ø18.0 44.0mm

Ø11.0 Ø18.0 33.0mm

Ø12.5 Ø18.0 44.0mm

Ceramic Nozzle



COLLET 

Item Part Number
20.240.010 WP-9/20
20.240.020 WP-9/20
20.240.030 WP-9/20
20.240.040 WP-9/20
20.240.050 WP-9/20
20.240.060 WP-9/20

20.240.070 WP-17/18
20.240.080 WP-17/18
20.240.090 WP-17/18
20.240.100 WP-17/18
20.240.110 WP-17/18
20.240.120 WP-17/18

20.240.130 WP-45

20.240.140 AL22
20.240.150 AL22
20.240.160 AL22
20.240.170 AL22
20.240.180 AL22

20.240.190 ProTIG 1

20.240.200 ProTIG 2

20.240.210 ProTIG 3

20.240.220 ProTIG 4

BODIES

 Description
  Collet Body 1.0mm
  Collet Body  1.6mm

TI
G

y
  Collet Body 2.0mm
  Collet Body 2.4mm
  Collet Body 3.2mm
  Collet Body 4.0mm

8/26   Collet Body 1.0mm
8/26   Collet Body 1.6mm
8/26   Collet Body 2.0mm
8/26   Collet Body 2.4mm
8/26   Collet Body 3.2mm
8/26   Collet Body 4.0mm

Collet Body

  Collet Body 1.6mm Fronius
  Collet Body 2.0mm Fronius
  Collet Body 2.4mm Fronius
  Collet Body 3.2mm Fronius
  Collet Body 4.0mm Fronius

0 Collet Body SAF

0 Collet Body SAF

0 Collet Body SAF

0 Collet Body SAF



COLL

rebmuN traPmetI
20.260.010 W
20.260.020 W
20.260.030 W
20.260.040 W
20.260.050 W
20.260.060 W

20.260.070 W
20.260.080 W
20.260.090 W
20.260.100 W
20.260.110 W
20.260.120 W
20.260.130 W

20.260.140 W
20.260.150 W
20.260.160 W
20.260.170 W

20.260.180 AL
20.260.190 AL
20.260.200 AL
20.260.210 AL
20.260.220 AL
20.260.230 AL
20.260.240 AL

20.260.250 Pr
20.260.260 Pr
20.260.270 Pr
20.260.280 Pr

20.260.290 Pr
20.260.300 Pr
20.260.310 Pr
20.260.320 Pr

20.260.330 Pr
20.260.340 Pr
20.260.350 Pr
20.260.360 Pr
20.260.370 Pr

20.260.380 Pr
20.260.390 Pr
20.260.400 Pr
20.260.410 Pr
20.260.420 Pr

LETS

  Description
WP-9/20 Collet 1.0mm
WP-9/20 Collet 1.6mm

TI
G

WP-9/20 Collet 2.0mm
WP-9/20 Collet 2.4mm
WP-9/20 Collet 3.2mm
WP-9/20 Collet 4.0mm

WP-17/18/26 Collet 1.0mm
WP-17/18/26 Collet 1.2mm
WP-17/18/26 Collet 1.6mm
WP-17/18/26 Collet 2.0mm
WP-17/18/26 Collet 2.4mm
WP-17/18/26 Collet 3.2mm
WP-17/18/26 Collet 4.0mm

WP-45 Collet Ø1.6mm
WP-45 Collet Ø2.4mm
WP-45 Collet Ø3.2mm
WP-45 Collet Ø4.0mm

L22 Collet Ø1.0mm FRONIUS
L22 Collet Ø1.2mm FRONIUS
L22 Collet Ø1.6mm FRONIUS
L22 Collet Ø2.0mm FRONIUS
L22 Collet Ø2.4mm FRONIUS
L22 Collet Ø3.2mm FRONIUS
L22 Collet Ø4.0mm FRONIUS

roTIG 10 Collet Ø1.6mm SAF
roTIG 10 Collet Ø2.0mm SAF Ø
roTIG 10 Collet Ø2.4mm SAF
roTIG 10 Collet Ø3.2mm SAF

roTIG 20 Collet Ø1.6mm SAF
roTIG 20 Collet Ø2.0mm SAF
roTIG 20 Collet Ø2.4mm SAF
roTIG 20 Collet Ø3.2mm SAF

roTIG 30 Collet Ø1.6mm SAF
roTIG 30 Collet Ø2.0mm SAF
roTIG 30 Collet Ø2.4mm SAF
roTIG 30 Collet Ø3.2mm SAF
roTIG 30 Collet Ø4.0mm SAF

roTIG 40 Collet Ø1.6mm SAF
roTIG 40 Collet Ø2.0mm SAF
roTIG 40 Collet Ø2.4mm SAF
roTIG 40 Collet Ø3.2mm SAF
roTIG 40 Collet Ø4.0mm SAF



BACK 

Item Part Number
20.270.010 WP-9/20
20.270.020 WP-9/20

TI
G

/
20.270.030 WP-9/20

20.270.040 WP-17/18/
20.270.050 WP-17/18/
20.270.060 WP-17/18/

20.270.070 WP-45
20.270.080 WP-45

20.270.090 ProTIG 30
20.270.100 ProTIG 30
20.270.110 ProTIG 30

CAPS

Description
Back Cap (Long)
 Back Cap (Medium)
Back Cap (Short)

/26  Back Cap (Long)
/26  Back Cap (Medium)
/26 Back Cap (Short)

Back Cap (Long)
Back Cap (Short)

0 Back Cap (Long)
0 Back Cap (Medium)
0 Back Cap (Short)



(CABLE) CO

Item Part Number Description

16-25 Cable Connector
20.280.010

16-25 Cable Connector
20.280.030

(W.Cool.)

50-70 Cable Connector
20.280.090

50-70 Cable Connector

(M12x1)

20.280.110

(M12x1)

70-95 Cable Connector
20.280.180

ONNECTORS

Item Part Number Description

r 16-25 Cable Connector
20.280.020

TI
G

(Erkek / Male)

r 35-50 Cable Connector
20.280.070

r 50-70 Cable Connector
20.280.100

r 50-70 Cable Connector

(W 3/8" 19)

20.280.120

(W 3/8  19)

r 70-95 Cable Connector
20.280.190

(Male) (Male)

(Female) (Male)

(W.Cool.)

(Male)

(W.Cool.)

(Male)

(Male) (Male)



(MACHINE) C

uN traPmetI m

20.280.0

TI
G

20.280.0

20.280.0

20.280.0

20.280.1

20.280.1

20.280.1

ONNECTORS

m noitpircseDreb

16-25 Machine Connector
040

16-25 Machine Connector

(with Bakelite)

050

(with Bakelite)
(Fimer)

16-25 Machine Connector

(without Bakelite)
(System with Card)

060

35-50 Machine Connector

0 0 h C

080

130
50-70 Machine Connector
(Female)

(Female)

50-70 Machine Connector
140

50-70 Machine Connector
150

(Bakalitsiz / without Bakelite)
(Female)

(Female)

(Female)

(Female)

(Female)



TUNGSTEN ELECTRODES – P

Item Part Number
20.290.010
20.290.020

TI
G

20.290.030
20.290.040
20.290.050
20.290.060
20.290.070
20.290.080
20.290.090
20.290.100
20 290 020.290.110
20.290.120
20.290.130
20.290.140
20.290.150
20.290.160
20.290.170

rebmuN traPmetI

1 20.300.010 WP-9/17/20
2 20.300.020 WP-18/26

- 20.300.030 WP-9/17/20
- 20 300 040 WP-18/26

A

20.300.040 WP 18/26
1 20.310.030

20.310.040
2 20.300.050 WP-9/17/20

20.300.060 WP-18/26
3 20.300.070 WP-9/17/20

1 20.310.010 WP-9/17/20
2 20.310.020 WP-18/26

B

C

rebmuN traPmetI
1 20.310.050

20.310.060
2 20.310.070
3 20.310.080

PLASTIC PARTS –SWITCHES

              Description
Tungsten Electrode (Green) 1.0mm Planse
Tungsten Electrode (Green) 1.2mm Planseg ( )
Tungsten Electrode (Green) 1.6mm Planse
Tungsten Electrode (Green) 2.0mm Planse
Tungsten Electrode (Green) 2.4mm Planse
Tungsten Electrode (Green) 3.2mm Planse
Tungsten Electrode (Green) 4.0mm Planse
Tungsten Electrode (Red) 1.0mm Planse
Tungsten Electrode (Red) 1.6mm Planse
Tungsten Electrode (Red) 2.0mm Planse

 
Tungsten Electrode (Red) 3.2mm Planse
Tungsten Electrode (Red) 4.0mm Planse
Tungsten Electrode (Red) 6.0mm Planse
Tungsten Electrode (Red) 8.0mm Planse
Tungsten Electrode (Red) 10.0mm Planse
Tungsten Electrode (Red) 12.0mm Planse

 Description

Cylindrical Handle
Cylindrical Handle

Ergonomic Handle Set
Ergonomic Handle SetErgonomic Handle Set
Switch (1 Position)
Switch (2 Positions)
Ergonomic Handle Joint
Ergonomic Handle Joint
Locking Adaptor (for Torch Head)

Switch Housing (Plastic)
Switch Housing (Plastic)

Description
Microswitch (1 Position)
Microswitch (2 Positions)
Microswitch (Crouzet/Europe)
Microswitch (The Far East)

Tungsten Electrod (Red) 2.4mm Planse



TUNGSTEN ELECTRODES – P

Item Part Number
20.290.010
20.290.020

TI
G

20.290.030
20.290.040
20.290.050
20.290.060
20.290.070
20.290.080
20.290.090
20.290.100
20 290 020.290.110
20.290.120
20.290.130
20.290.140
20.290.150
20.290.160
20.290.170

rebmuN traPmetI

1 20.300.010 WP-9/17/20
2 20.300.020 WP-18/26

- 20.300.030 WP-9/17/20
- 20 300 040 WP-18/26

A

20.300.040 WP 18/26
1 20.310.030

20.310.040
2 20.300.050 WP-9/17/20

20.300.060 WP-18/26
3 20.300.070 WP-9/17/20

1 20.310.010 WP-9/17/20
2 20.310.020 WP-18/26

B

C

rebmuN traPmetI
1 20.310.050

20.310.060
2 20.310.070
3 20.310.080

PLASTIC PARTS –SWITCHES

              Description
Tungsten Electrode (Green) 1.0mm Planse
Tungsten Electrode (Green) 1.2mm Planseg ( )
Tungsten Electrode (Green) 1.6mm Planse
Tungsten Electrode (Green) 2.0mm Planse
Tungsten Electrode (Green) 2.4mm Planse
Tungsten Electrode (Green) 3.2mm Planse
Tungsten Electrode (Green) 4.0mm Planse
Tungsten Electrode (Red) 1.0mm Planse
Tungsten Electrode (Red) 1.6mm Planse
Tungsten Electrode (Red) 2.0mm Planse

 
Tungsten Electrode (Red) 3.2mm Planse
Tungsten Electrode (Red) 4.0mm Planse
Tungsten Electrode (Red) 6.0mm Planse
Tungsten Electrode (Red) 8.0mm Planse
Tungsten Electrode (Red) 10.0mm Planse
Tungsten Electrode (Red) 12.0mm Planse

 Description

Cylindrical Handle
Cylindrical Handle

Ergonomic Handle Set
Ergonomic Handle SetErgonomic Handle Set
Switch (1 Position)
Switch (2 Positions)
Ergonomic Handle Joint
Ergonomic Handle Joint
Locking Adaptor (for Torch Head)

Switch Housing (Plastic)
Switch Housing (Plastic)

Description
Microswitch (1 Position)
Microswitch (2 Positions)
Microswitch (Crouzet/Europe)
Microswitch (The Far East)

Tungsten Electrod (Red) 2.4mm Planse



OTHER ACC

Item Part Number
50.200.070
50.200.080

A
K

SE
SU

A
R 50.200.090

50.200.100

50.200.110

50.200.120

50.200.130

50.200.140

50.200.150
50.200.160
50.200.170
50.200.180

CESSORIES

Inox Steel Brush with 2 Ranks
Inox Steel Brush with 3 Ranks

noitpircseD

Inox Steel Brush with 4 Ranks

Steel Brush

Gas Flow Meters

Antispatter Paste

Spatter Cleaner

Stainless Steel Sprey

BT5 Nozzle Cleaner Spray
BT68 Penetrant Spray
BT69 Cleaner Spray
BT70 Developer Spray



DIODE G

Item Part Number Amper
70.100.010 100 Amp.

70.110.084
70.110.115
70.110.154

70.120.240 240 Amp.
70.120.300 300 Amp.
70.120.350 350 Amp.
70.120.450 450 Amp.70.120.450 450 Amp.
70.120.550 550 Amp.
70.120.650 650 Amp. R
70.120.850 850 Amp.

70.130.030
70.130.060 P
70.130.090
70.130.120
70 130 15070.130.150

70.140.250
70.140.350
70.140.450
70.140.550
70.140.650
70.140.850

70.150.120
70.150.170

GROUPS

noitpircseD

PMS 84 +T Monofase
PMS 115 +T Monofase
PMS 154 +T Monofase

PTS 240 +T Rectifier
PTS 300 +T Rectifier
PTS 350 +T Rectifier
PTS 450 +T Rectifier PTS 450 +T Rectifier 
PTS 550 +T Rectifier
PTS 650 +T Rectifier
PTS 850 +T Rectifier

PTS 30P +T Rectifier for Plasma
PTS 60P +T Rectifier for Plasma
PTS 90P +T Rectifier for Plasma

 PTS 120P +T Rectifier for Plasma
PTS 150P +T Rectifier for Plasma

PTT 250D +T
PTT 350D +T
PTT 450D +T
PTT 550D +T
PTT 650D +T
PTT 850D +T

.V.D0021 TTP
PTT 1700D.V. + T100NC

1/3 DB80-100 Rectifier


